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Question Number : 1 Question Id : 7532291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BN, FS, JX, NC, RH, ?

Options :
1. * WM
2. ¥ VM
3. % WL
4. % VL

Question Number : 1 Question Id : 7532291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BN, FS, JX, NC, RH, ?

Options :

1. * WM

2. ¥ VM

3. % WL

4. % VL

Question Number : 2 Question Id : 7532292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. Narcoanalyses

2. Narcotization

3. Narcoanalysis

4. Narrowcasting

5. Narrativizing

Options :

1. % 31254
2.9 13254
3. % 13245
4. % 31245

Question Number : 2 Question Id : 7532292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad Srscl ! Wsq I T 311 9T HH & AR ford|
1. Narcoanalyses

2. Narcotization

3. Narcoanalysis

4. Narrowcasting

5. Narrativizing




Options :

1. % 31254
2. % 13254
3. % 13245
4. % 31245

Question Number : 3 Question Id : 7532293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. % AZ

2. % JQ

3. % IR

4. ¢ HT

Question Number : 3 Question Id : 7532293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad wy o fou 7T fdeedt § 9 fawd srerR/sieRt &1 gl
Options :

1. ® AZ

2. % JQ

3. % IR

4. ¢ HT

Question Number : 4 Question Id : 7532294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related words from the given alternatives.
Carpenter : Furniture :: Editor : ?

Options :



1. # Film

2. ¥ Newspaper
3. % Design

4. % Wall

Question Number : 4 Question Id : 7532294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafererd v # faw Ty fawedl # @ Heferd wrsal w1 g
deg : WHAHR :: JUigd : ?

Options :

1. % foed

2. % 3YIR

3. % f&uirg

4. % dlaR

Question Number : 5 Question Id : 7532295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

ADV :CHA :: ?
Options :
1. # PUA : RZF

2. % QVZ: SAE
3. ¥ LNC : NRH
4. % JBS: LFW

Question Number : 5 Question Id : 7532295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ADV : CHA :: ?



Options :

1. # PUA : RZF
2. % QVZ:SAE
3. ¥ LNC: NRH
4, % JBS : LFW

Question Number : 6 Question Id : 7532296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘MY is written as ‘38°, ‘PUT’ is written as ‘57’°. What is the code for ‘FIGURE’ in that code language?

Options :
1. # 64
2.9 66
3. % 68
4. % 69

Question Number : 6 Question Id : 7532296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 64

2. ¥ 66

3. % 68

4. % 69

Question Number : 7 Question Id : 7532297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons A, B, C, D and E sit in a row facing towards the north (not necessarily in the same order). B sits third to the right of A. D sits second

to the left of C. E is not a neighbour of A.
Who sits at the extreme ends?



Options :
1. % AE
2.¥B,D
3.% D,E
4. % B,C

Question Number : 7 Question Id : 7532297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % A E

2.¥B,D

3.% D,E

4. % B,C

Question Number : 8 Question Id : 7532298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of six members is to be selected among ten members M1, M2, M3, M4, M5, M6, M7, M8, M9 and M10. M5 cannot be selected with
M10. M6 cannot be selected with M 1. M3 has to be selected with M9. M4 has to be selected with M7. M8 cannot be selected with M5.
Which of the following members can be selected in a team?

Options :

1. # M1, M2, M3, M4, M7, M8
2. % M1, M2, M3, M8, M9, M10
3. % M2, M3, M4, M7, M8, M10
4, ¥ M2, M3, M5, M7, M8, M9

Question Number : 8 Question Id : 7532298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M1, M2, M3, M4, M7, M8

2. ¢ M1, M2, M3, M8, M9, M10

3. % M2, M3, M4, M7, M8, M10

4. % M2, M3, M5, M7, M8, M9

Question Number : 9 Question Id : 7532299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys A, B, C, D and E have a car among five different cars C1, C2, C3, C4 and C5 (not necessarily in the same order). Each also likes a bike
among five different bikes B1, B2, B3, B4 and B5 (not necessarily in the same order). C does not like B2. B has C3, but he does not like B3. E
does not have C4, but he likes B4. A does not like BS. C and D do not have C2 and C1 respectively. The one who has C2 likes B5. The one who
has C1 likes B2.

Which of the following combination of boy — car — bike is not correct?

Options :

1.* A-Cl1-B2
2. % B-C3-BI
3. D-C2-B5
4, ¥ C-C5-B3

Question Number : 9 Question Id : 7532299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.%# A-Cl1-B2
2. %# B-C3-BI
3. D-C2-B5
4. ¥ C-C5-B3

Question Number : 10 Question Id : 75322910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All A and B.

II. All B are C.

Conclusions:

I. All A are C.

II. Some C are A.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 75322910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HY:

LI A, BRI

1.9 B, C §1

fsep:




LWt A, CEI

IL.FSC, AT

Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. % Had BN 11 IR0 Hl §

3. ¢ QI (FIShY [ QT 11 SFJR0T %l &
4. % 1S i e SFERT T BT ®

Question Number : 11 Question Id : 75322911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All P are Q.

II. All Q are R.

III. All R are S.

Conclusions:

I. AIIR are P.

II. Some Q are not P.

III. Some R are Q.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Only conclusion III follows

4. % Both conclusion I and III follows

Question Number : 11 Question Id : 75322911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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LI P Q3

.9 Q,R B

L IH R, S T

fTpy:

L iR, PRI

IL.$S3Q,PTal gl

1. FS R, Q B

Options :

1. % Had (sHY [ 3IER0 HT §
2. % Had HY 11 IR0 Hdl &
3. ¢ Had sy 111 3R Hal §
4. % Gl F5BY 1 T 111 SFTIRUT 6’ §

Question Number : 12 Question Id : 75322912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
2,3,6,15,45,?

Options :
1. % 122.5
2. % 135
3.¥ 1575
4. % 180

Question Number : 12 Question Id : 75322912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy & < 1S saar & ¥ g 8f J1d i |

2,3,6,15,45,?
Options :

1. % 1225

2. % 135




3.9 157.5
4. %= 180

Question Number : 13 Question Id : 75322913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related number from the given alternatives.
16:128::24:7?

Options :

1. * 186

2. % 218

3. ¥ 288

4. % 426

Question Number : 13 Question Id : 75322913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad vy o fau e fawed & © Sefia dem &1 ghul
16: 128 ::24: 7

Options :

1. % 186

2. % 218

3. ¥ 288

4. % 426

Question Number : 14 Question Id : 75322914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many doctors are singers?



Singer

N Doctor
48 %
25 ]
Player
Options :
1. %9
2. %10
3.9 19
4. % 24

Question Number : 14 Question Id : 75322914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhdq Sigex, TMdPR 82

ESElIGCARY
8 S
48 |}
25 |
Options :
1. %9
2. %10
3.9 19

4. % 24



Question Number : 15 Question Id : 75322915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement is correct?
I. The total number of books is 146.
II. The number of pens which are only pencil is 15.

o

w Pen

Pencil
Options :
1. % Only I
2. % Only II
3. % BothIandII
4. # Neither I nor II

Question Number : 15 Question Id : 75322915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ICT G}
e
Options :
1. % PHadl
2. ¥ Had Il
3. % [qUT el

4. % qIEITAIB I

Question Number : 16 Question Id : 75322916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One evening before sunset, two friends F1 and F2 were talking to each other face to face. If the shadow of F1 was exactly to his right side, then
in which direction was F2 facing?

Options :
1. # East
2. % West
3. # North
4. ¥ South

Question Number : 16 Question Id : 75322916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % qd
2. % Uigwm
3. % 3
4. ¥ &

Question Number : 17 Question Id : 75322917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person walks 10 km towards the north. He turns to the right and walk 25 km. He turns to the left and walk 20 km. He turns to the left and walk
13 km. Finally he turns to the left and walks 25 km. How far and in which direction is he now from the starting point?

Options :

1. ¥ 13 km North-East
2. % 13 km North-West
3. # 5 km North-West

4. % 5 km North-East

Question Number : 17 Question Id : 75322917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 13 o i SR-gd
2. % 13 & . ITR-ufgw
3. % 5o ol IaR-ufgy
4. % 5fH i IRgd

Question Number : 18 Question Id : 75322918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

A AAA AAA AAA
AA ? AAA
AAA
Options :
AA
A A
| % A A
AAA
Fara s
2. v &
A A A
LA M
3 % AAA
A A A
A A
4 % A4 A

Question Number : 18 Question Id : 75322918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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¥ AAA AAA A A A
A A ? A A A
LA A
Options :
A A
A A




A A A
A A A

2.¥

PN
FANFA Y
A A A

A A A
A A
A A A

Question Number : 19 Question Id : 75322919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :

1. -




Question Number : 19 Question Id : 75322919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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?

Options :

1. ¢

3.



Question Number : 20 Question Id : 75322920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

(D&

Options :

pog pop
ooo ooo
pog pod

pop
o¢o
pod

3. %

pog
oéo
pog



Question Number : 20 Question Id : 75322920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & vy &n?i?iﬁrﬁﬁ“@m &jﬂle BT B ATSHR DG aUT WA o dIG I8 [ IR TP oI @ &2

Options :
o0
o¢0o
SO
1. %
voe
ooao
xSy
2. %
o&0s
o¢0o
SO0
3. %
coo
oo
SO
4. &
General Awareness
Group Number : 2
Group Id : 7532292
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 7532292
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 7532292
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 75322921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sattriya is a classical dance form of which state?
Options :

1. * Manipur

2. % Mizoram

3. ¥ Assam

4. % Kerala

Question Number : 21 Question Id : 75322921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tz fr T &1 AR T 72
Options :

1. ® HOQR

2. % fISIRT

3. ¥ 3{HH

4. % P

Question Number : 22 Question Id : 75322922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Pandavani” is a regional music of which state?
Options :

1. # Maharashtra

2. % Chhattisgarh

3. ¥ Rajasthan

4. ® Manipur

Question Number : 22 Question Id : 75322922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“UgaHD fha sy o1 &y itd 82
Options :

1. % HERIY

2. ¥ BTG

3. % ST

4. % AR

Question Number : 23 Question Id : 75322923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the size of the Mahatma Gandhi (New) Series Rs. 50 note?



Options :

1. ®# 66 mm x 140 mm
2. % 66 mmx 135 mm
3. % 68 mm x 135 mm
4. % 68 mm x 140 mm

Question Number : 23 Question Id : 75322923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 ¥ & [T el (%) SRael & e &7 3R 1 82
Options :

1. ® 66 THUH. x 140 TH.UH.

2.9 66 THUH. x 135 THUH.

3. % 68 UH.UH x 135 UH.UH.

4. % 68 UHUH. x 140 UHUH.

Question Number : 24 Question Id : 75322924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding GST in India?
I. GST Act was passed by the Parliament in 2016.
II. GST law came into effect from July 2016.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 24 Question Id : 75322924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. TS, it 2016 § S99 gRTUTRG b ma o1
1. ST &. ST TS 2016 I AR ST AT

Options :

1.« Had 1
2. % HAdII
3. % [ UGl
4. % A A

Question Number : 25 Question Id : 75322925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The blue colour of sky is due to which phenomena of light?
Options :

1. # Reflection

2. # Refraction

3. ¥ Scattering

4. ® Dispersion

Question Number : 25 Question Id : 75322925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{THTRT BT el T YHTRI &1 fh s UREST & HRUT Il 52
Options :

1. % TRIGcH

2. % 3T

3. ¥ YhiuH

4. % fagmur

Question Number : 26 Question Id : 75322926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



By which method the mixture of salt and camphor can be separated?
Options :

1. # Distillation

2. % Sublimation

3. ¥ Chromatography

4. % Fractional distillation

Question Number : 26 Question Id : 75322926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o UfordT GRT TS aUT HUR o RS0 &1 31T fohaT off TehdT 82
Options :

1. # 3AHd-

2. ¢ ST

3. % DIHCUTH!

4. % JHTSI RIS

Question Number : 27 Question Id : 75322927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Respiration is an exothermic reaction.
II. Decomposition of vegetable matter into compost is an exothermic reaction.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 27 Question Id : 75322927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferfed § @ ©F 91 Hy Tal 82
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Options :

1. % Had 1

2. % Had II

3. [ QYT I gl

4. ® AIQIIATBII

Question Number : 28 Question Id : 75322928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pir panjal range is located in
Options :

1. ¥ Jammu and Kashmir

2. % Uttarakhand

3. % Meghalaya

4. % Nagaland

Question Number : 28 Question Id : 75322928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Uoa S|ar . Hfyd gl
Options :

1. ¢ S TUT HRAR

2. % TS

3. % TR

4. % 9GS

Question Number : 29 Question Id : 75322929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following river is also called “Dakshin Ganga™?
Options :

1. # Mahanadi

2. ¥ Godavari

3. % Krishna

4. % Narmada

Question Number : 29 Question Id : 75322929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoed & & 1 o 7t & <afdmor - oft et e 32
Options :

. % Wl

2. ¢ Tarad

3. ¥ U

4. % THar

Question Number : 30 Question Id : 75322930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. The Labrador Ocean current is warm current.
II. Gulf stream is a cold current.

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 30 Question Id : 75322930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

oI P T FUT TR

1. ASTER HETARI YRTY, T STAYRTE Breft B |
L. Tehe I Xt STAYRTE gl 5|

Options :

1. % PHadl
2. % Had Il
3. % [qUT el
4. I

Question Number : 31 Question Id : 75322931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Raziyya Sultan was removed from the throne?
Options :

1. % 1236

2.9 1240

3. % 1235

4, % 1238

Question Number : 31 Question Id : 75322931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RforT oo™ &1 R 4 foo 9ol o ger fear mam um
Options :

1. # 1236

2.9 1240

3. % 1235

4, % 1238

Question Number : 32 Question Id : 75322932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In which year did Genghis Khan die?
Options :

1. % 1326

2. % 1249

3.9 1227

4. % 1220

Question Number : 32 Question Id : 75322932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS @H B g ford an 1 gs e
Options :

1. % 1326

2. % 1249

3. ¥ 1227

4. % 1220

Question Number : 33 Question Id : 75322933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 999 Kandariya Mahadeva temple was constructed by the king Dhangadeva. He was a ruler of which dynasty?
Options :

1. % Chola Dynasty

2. % Chalukya Dynasty

3. ¥ Chandela Dyansty

4. # Rajput Dynasty

Question Number : 33 Question Id : 75322933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ay 999 H, ST HgTed HieR &1 fAufur el e1ea gR fobam T U1| 98 ford o= 1 e U




Options :

1. % A9
2. % IIIR I
3. ¢ Fad 9%
4. % JSYd 9

Question Number : 34 Question Id : 75322934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Padma Awards are conferred by the of India.
Options :

1. ¥ President

2. # Prime Minister

3. # Chief Justice of Supreme Court

4. % Vice-President

Question Number : 34 Question Id : 75322934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3] REBR HRA & & gRI U forar omd B
Options :

1. ¢ gufd

2. % GYTTHAT

3. % qaie ATy o G- AT

4. % 3uryufa

Question Number : 35 Question Id : 75322935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As on 15 July 2021, who is the Union Health Minister of India?
Options :




1. # Dr. Harsh Vardhan
2. ¥ Mansukh Mandaviya
3. % Anurag Thakur

4. # Ashwini Vaishnaw

Question Number : 35 Question Id : 75322935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 [T 2021 ¥, HRT & IAAM Helg WG T3t HH 82
Options :

1. % STgyadd

2. ¢ OgW HeTiaan

3. % SIRATSIPR

4. % 3ifayt dwrg

Question Number : 36 Question Id : 75322936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 2021, who became the first Indian woman to scale mount Everest?
Options :

1. # Tashi Malik

2. ¥ Malavath Purna

3. # Premlata Agarwal

4. ¥ Tashi Yangjom

Question Number : 36 Question Id : 75322936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2021 H TIRIC Tdd Tag HR ardil Igat YR gl HIF 12

Options :

1. % it afere




2. % Ty oIt
3. % YA AT
4. « QAT IHTSIH

Question Number : 37 Question Id : 75322937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First meeting of the Indian Constituent Assembly was presided by
Options :

1. * Dr. Rajendra Prasad

2. # Jawahar Lal Nehru

3. % Sachchidananda Sinha

4. # Dr. B.R. Ambedkar

Question Number : 37 Question Id : 75322937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HYRATT AU THT &1 Ugcl dodb o1 sregerdt At ot
Options :

1. % S ol 9IS

2. % SdTER dld A&

3. ¢ "iHgrHg Rt

4. % ST 9l3R. TISHT

Question Number : 38 Question Id : 75322938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Indian Constitution, which pair of Article — Fundamental right is correct?
I. Article 14 — Equality before law
II. Article 26 — Freedom to manage religious affairs

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 38 Question Id : 75322938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WfIU™ b SFUR, 3T - Hifed HRIBR BT HIF 1 T el 32
I. 3Jw5¢ 14 — fafd & Twmes goan

I1. 3G 26 — YTHE BT & TeY B Wil

Options :

1. % had

2. % Dhad I

3. 1qUT I Ml

4. % AIGIATGI

Question Number : 39 Question Id : 75322939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Merdeka cup’ is associated with which sports?
Options :

1. # Cricket

2. % Hockey

3. % Tennis

4. ¥ Football

Question Number : 39 Question Id : 75322939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSP HU [y Ta T Faifdd g2
Options :

1. ® fhbe




2. % Gl
3. % ¢fg
4. ¥ adld

Question Number : 40 Question Id : 75322940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which city, the first Asian Games took place?
Options :

1. # Beijing

2. % Tokyo

3. ¥ New Delhi

4. ¥ Kuala Lumpur

Question Number : 40 Question Id : 75322940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT TRATS W by e H g3 U1?
Options :
1. % ST
2. % IRy
3. ¢ 8 faeit
4, % P3TI THX

Arithmetic Ability
Group Number : 3
Group Id : 7532293
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 7532293
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 7532293
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 75322941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many composite numbers are there from 1 to 30?
Options :

1. % 20

2.¥19

3. % 18

4. % 17

Question Number : 41 Question Id : 75322941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



1 3 30 I fohaT Hgad TR 82
Options :

1. * 20

2.9 19

3. % 18

4. = 17

Question Number : 42 Question Id : 75322942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of a positive number and its cube is 1740. What is the value of the number?
Options :

1. % 8

2. % 14

3.9 12

4. % 16

Question Number : 42 Question Id : 75322942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YIS T TUT IP T BT ART 1740 3 | HSAT BT HH T 672
Options :

1. % 8

2. % 14

3. 12

4. % 16

Question Number : 43 Question Id : 75322943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For what value of N, 72N is divisible by 16?
Options :



1. 8
2.¥0
3. % 4
4. % 6

Question Number : 43 Question Id : 75322943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N & ford A & forT 72N, 16 ¥ faursa 82
Options :

1. * 8

2.9 0

3.% 4

4. % 6

Question Number : 44 Question Id : 75322944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of two numbers is 23276 and their Highest Common Factor is 46. What is the Least Common Multiple of these numbers?
Options :

1. ® 456

2. % 486

3. % 526

4. ¥ 506

Question Number : 44 Question Id : 75322944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S BT UFTE 23276 § IUT ST HETH THIAAD 46 § | § TS &1 g THIGd &1 82
Options :

1. % 456

2. % 486



3. % 526
4. % 506

Question Number : 45 Question Id : 75322945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value [7/(\7 + 6)] + [8/(\7 — V6)]?
Options :

| % 15V7 -6

5 & 15V7+ 16

3 % V7156

4 % 15V6 =7

Question Number : 45 Question Id : 75322945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[7/(NT +6)] + [8/(NT —6)] T AT FaT g2
Options :

| x 15V7 -6

5 o 15VT+ 76

; x V7156



4 % 15V6 =7

Question Number : 46 Question Id : 75322946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of two professors A and B of a college is 48 years. The average age of A, B and their friend C is 62 years. What is the age of C?
Options :

1. ¥ 90 years

2. % 94 years

3. % 92 years

4. % 95 years

Question Number : 46 Question Id : 75322946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AR & &l MHIR A TUT B HI 379d 3T 48 TH G| A, B TUT 37D 07 C BT 3 3 62 T8 8| C B T T 7?2
Options :

1.+ 90 Ty

2. % 94TY

3. % 929y

4. % 9599

Question Number : 47 Question Id : 75322947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P is 10 times of Q, then Q is how much percent less than P?
Options :

1. # 80 percent

2. % 81 percent



3. % 90 percent
4. % 99 percent

Question Number : 47 Question Id : 75322947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg P, Q HT 10 TR, N Q, P ¥ fard=1 wfa=rd &1 82
Options :

1. % 80 wf=rd

2. % g1 gfd=rd

3. ¢ 90 Yfd=rd

4. % 99 Tfa=Id

Question Number : 48 Question Id : 75322948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A percent of B percent of 1250 = 45 and B percent of 10 percent of 500 = 12, then what is the value of A?
Options :

1. % 175

2.% 15

3. %20

4, % 225

Question Number : 48 Question Id : 75322948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ife 1250 & B UTAId BT A UfA=Id = 45 8 TUT 500 & 10 WA= BT B UfA=Id = 12 8, ol A BT HF T 82

Options :
1. % 17.5
2.% 15
3. %20



4, % 225

Question Number : 49 Question Id : 75322949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a person earns 20 percent profit on selling price, then what will be his profit percentage on cost price?
Options :

1. ¥ 25 percent

2. # 20 percent

3. % 12.5 percent

4. # 16.66 percent

Question Number : 49 Question Id : 75322949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T fad fasha Hed WR 20 UTIRI AT HHIT &, O 968 Yoo TR 3T arH Uid=id 31 g
Options :

1. ¢ 25 gfard
2. % 20 Ufard
3. % 125 gfaerd
4. % 16.66 Ufa2rd

Question Number : 50 Question Id : 75322950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If G = 2H, then what is the value of (G + H)/G?
Options :

1. % 2/3

2. % 1/3

3. % 4/3

4. 3/2



Question Number : 50 Question Id : 75322950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe G = 2H 8, T (G + H)/G BT HH T 82
Options :

1. % 2/3

2. % 1/3

3. % 4/3

4.9 3/2

Question Number : 51 Question Id : 75322951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of salary of P, Qand Ris 5: 3 : 7. If R gets Rs. 3600 more than Q, then what is the salary of P?
Options :

1. ¥ Rs. 900

2. % Rs. 3600

3. ¥ Rs. 4500

4. % Rs. 6300

Question Number : 51 Question Id : 75322951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,QTUTR & - T UM 5: 3 : 781 ARG R BT Q I 3600 TTY 31feeh fed €, ol P &1 da- a1 82
Options :

1. % 900 TYY

2. ® 3600 TYY

3. ¢ 4500 39U

4. % 6300 30T



Question Number : 52 Question Id : 75322952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person lent certain sum of money at the annual rate of 40 percent on simple interest. In 3 years the interest amounted to Rs. 800 more than the
sum lent. What is the sum lent?

Options :

1. ¥ Rs. 2000
2. % Rs. 1600
3. ¥ Rs. 4000
4. % Rs. 3200

Question Number : 52 Question Id : 75322952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U afad foredt Afa iR o7 40 ufa=ra &1 a1 e T TR U1l TR IYR AT 81 3 I8! & oA19], SYR &1 718 IR T 800 FU 31fAH B
ST 8 1 SR &) 173 IR |1 32

Options :

1. % 2000 30
2. % 1600 TYY
3. ¢ 4000 $9Y
4. % 3200 307

Question Number : 53 Question Id : 75322953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a boat in still water is 10 km/hr. If the upstream speed of the boat is 8 km/hr, then what is the speed of the stream?
Options :

1. ¥ 6 km/hr

2. % 3 km/hr

3. ¥ 2 km/hr

4. % 4 km/hr



Question Number : 53 Question Id : 75322953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRR 5@ & U 1d &1 71fd 10 fob. 1 /e 81 afe o1 & ufdga 1a &1 71fd 8 fos 1t /der §, O 4R &1 71 o 82
Options :

1. % ¢ fop.Hl At

2. % 3 {5 At /der

3. ¢ 2 fob Hit dier

4. % 41 = e

Question Number : 54 Question Id : 75322954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains leaves stations C and D towards stations D and C respectively at the same time. Speeds of trains coming from stations C and D are 30
km/hr and 40 km/hr respectively. When they meet, then it is known that the train coming from D has covered 40 km distance more than train
coming from C. What is the distance between C and D?

Options :

1. % 280 km
2. % 320 km
3. % 260 km
4. % 300 km

Question Number : 54 Question Id : 75322954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S YETSAT WA ¢ IUT D I HHT: WIE D TUT ¢ & oIt T g I7g R Apad & | WM € auT D I 317 g1 Yamfsdl &t 1fd Hw: 30
fop 7t et T 40 fob 1t /HeT B | 519 98 e ], Y 9 uar 9aar § fb D 9 o I XS A ¢ ¥ 311 I8 Yerme! ¥ 40 s 1. siftres gt o
IRA I CIITD I NI DI R R?

Options :

1. ¢ 280 fob 1.
2. % 320 fop 1Y,
3. % 260 f .




4. % 300 fop H.

Question Number : 55 Question Id : 75322955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shyam alone can do a work in 40 days working 2 hours a day. Ram alone can do the same work in 60 days working 2 hours a day. How many
hours do they need to work together in a day to complete the same work in 12 days?

Options :

1. # 3 hours
2. % 2.5 hours
3. % 5 hours
4. ¥ 4 hours

Question Number : 55 Question Id : 75322955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W 3 Ul 2 8¢ B b Th B Bl 40 fo B & bl 81 M 3dbal 4 B Bl Ufdfe 2 9 &1 aveb 60 o7 T o Ghar g
I B BT 12 foT H R B & forg 3% ufafe any e fovam 9 w1 d-A & Sa=adhdl 82

Options :
1. ® 39T
2. % 259l
3. % 59cT
4. ¥ 49T

Question Number : 56 Question Id : 75322956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of a rectangle is thrice of its breadth. If area of the rectangle is 675 cm?, then what is the length of this rectangle?
Options :

1. % 60 cm

2. % 30 cm

3. % 40 cm



4. % 45 cm

Question Number : 56 Question Id : 75322956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T &1 daTs I AISTs Bt dF A1 ] 1 fS 3Tad &7 8% 675 T2 B, df 3Tad & daTs 1 82
Options :

1. % 60 9.1,
2. % 30 9.
3. % 40 QA
4. 4599

Question Number : 57 Question Id : 75322957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

L. If the length, breadth and height of cuboid are 40 cm, 20 cm and 25 cm respectively, then total surface area of this cuboid is 2300 cm?.
I1. If the total surface area of a sphere is 30800 cm?, then its radius is 70 cm.

Options :

1. #® OnlyI

2. % Only II

3. % BothlIandII

4. ¥ Neither I nor II

Question Number : 57 Question Id : 75322957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 oF 91 HuF 9l 82

1. Ife U °-TH B diaTs, AIeTs adl SdTs AR 40 WA, 20 J.. qur 25 T, 8, O 39 g1 &1 $d YEIT &% d 2300 T2 B
1. If¢ TP TIid BT Hof g1 &A% 30800 T.11.2 §, 1 S9! fsar 70 9.4 B

Options :

1. ® Had 1



2. % BHad 11
3, % [qUT I SHl
4. ¢ ATBIIATBI I

Question Number : 58 Question Id : 75322958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the production of six companies for three years.

Company ¥ Gty

¥1 N2 X3
B 33 15 90
Q 10 25 0
R 20 10 60
S 30 45 TS5
| 40 60 55
U 7y 80 30

Which of the following statement is correct?

I. The average production of company P for three years is 45.

II. The ratio of the production of the company T in year Y2 to the production of company U in year Y3 is 2 : 1.
Options :

1. % Only I

2.9 Only II

3. % Both I andII

4. ¥ Neither I nor II

Question Number : 58 Question Id : 75322958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 & 173 difcresT i anl & ot B8 Hufal & Iared o <l g



— G
Y1 Y2 g £

P 33 15 90

Q 10 25 75

R 20 10 60

S 30 45 5

il 5 40 60 55

U 35 80 30
frafeied & Q@ ®F 91 &Y= 981 82
1. 7 auf & forw Ut p o 3NEd IaTe 45 21
IL 9Y Y2 H SO T & IATGA BT a8 Y3 HHUH U SdleT J 3 2 : 1 5
Options :
1. % Had 1
2. ¥ Had Il
3. % (YT Gl

4. % qIEITAIB I

Question Number : 59 Question Id : 75322959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the cost price and value of profit of six articles.
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—e—Cost Price  -=Profit

Selling Price = Cost Price + Profit
What is the average of selling price of all the articles?

Options :
1. % 680
2. % 870
3.9 725
4. % 690

Question Number : 59 Question Id : 75322959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fean mar Yt o ©: aegsil & %A g aUT Y & AH &1 GRIar g |
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Options :

1. % 680

2. % 870

3.¥ 725

4. % 690

Question Number : 60 Question Id : 75322960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the income and expenditure of six companies.
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Which of the following sequence is correct regarding the profit percentage of companies C1, C2, C3, C4, C5 and C6?
Options :

1. % C5>C6>C3>C1>C2>C4

2.8 C6>C5>C3>C4>C1>C2

3. % C5>C6>C3>C4>C2>Cl1

4. ¥ (C5>C6>C3>C2>Cl>C4

Profit Percentage=

Question Number : 60 Question Id : 75322960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % C5>C6>C3>Cl>C2>C4

2. % C6>C5>C3>C4>Cl>C2

3.% C5>C6>C3>C4>C2>Cl

4.¥ C5>C6>C3>C2>Cl>C4
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Question Number : 61 Question Id : 75322961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
By lowering rooftop surface (1)/ temperatures, green roofs (2)/can be kept cooler (3)/.No error (4)

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 61 Question Id : 75322961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
By lowering rooftop surface (1)/ temperatures, green roofs (2)/can be kept cooler (3)/.No error (4)

Options :



1. %]
2. %2
3. %3
4.9 4

Question Number : 62 Question Id : 75322962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
My cousins are smarter (1)/, when it come (2)/ to winning an argument (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 62 Question Id : 75322962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
My cousins are smarter (1)/, when it come (2)/ to winning an argument (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 63 Question Id : 75322963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
Rashmi have went to buy flower.



Options :

1. # has went
2. # have gone
3. % has gone

4. ¥ No improvement

Question Number : 63 Question Id : 75322963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
Rashmi have went to buy flower.

Options :

1. * has went
2. # have gone
3. % has gone

4. ¥ No improvement

Question Number : 64 Question Id : 75322964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
I am not been speaks to her for two weeks.

Options :

1. * am not been speaking
2. % have not been speaking
3. * have not been spoken

4. % No improvement

Question Number : 64 Question Id : 75322964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
I am not been speaks to her for two weeks.

Options :

1. # am not been speaking
2. ¥ have not been speaking
3. #* have not been spoken

4. ¥ No improvement

Question Number : 65 Question Id : 75322965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The movie had such a/an ending which was totally unexpected.

Options :

1. ¥ abrupt

2. ® quite

3. % numerous

4. % advance

Question Number : 65 Question Id : 75322965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The movie had such a/an ending which was totally unexpected.

Options :

1. ¥ abrupt

2. ® quite

3. % numerous

4. % advance

Question Number : 66 Question Id : 75322966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He, my siblings, and I not going to the wedding.

Options :

1. # is

2. % was

3. ¥ are

4. % does

Question Number : 66 Question Id : 75322966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He, my siblings, and I not going to the wedding.

Options :

1. # is

2. % was

3. ¥ are

4. % does

Question Number : 67 Question Id : 75322967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

In both Germany and

P: Austria in the late 19th century,

Q: anti-Semitism became

R: an organized movement within

S: its own political parties in

Note: For this question, discrepancy i1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :



1. SPQR
2. SRQP
3. QRSP
4. PQSR

Question Number : 67 Question Id : 75322967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.
In both Germany and

P: Austria in the late 19th century,

Q: anti-Semitism became

R: an organized movement within

S: its own political parties in

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. SPQR
2. SRQP
3. QRSP
4. PQSR

Question Number : 68 Question Id : 75322968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
P: political, and social institutions

Q: in intellectual and artistic endeavours, the

R: Romans achieved greatness in their military,

S: unlike the Greeks, who excelled

Options :

1. ¥ QSPR

2. % SQRP



3. # SPRQ
4. % SRQP

Question Number : 68 Question Id : 75322968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
P: political, and social institutions

Q: in intellectual and artistic endeavours, the

R: Romans achieved greatness in their military,

S: unlike the Greeks, who excelled

Options :

1. * QSPR
2. ¥ SQRP
3. #* SPRQ
4. % SRQP

Question Number : 69 Question Id : 75322969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Decide

Options :
1. # Vacillate
2. % Choose
3. % Urge
4. % Goad

Question Number : 69 Question Id : 75322969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Decide



Options :
1. # Vacillate
2. % Choose
3. % Urge
4. % Goad

Question Number : 70 Question Id : 75322970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Extricate

Options :

1. # Extract
2. ¥ Entangle
3. % Joust

4. % Juvenile

Question Number : 70 Question Id : 75322970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Extricate

Options :

1. # Extract
2. ¥ Entangle
3. % Joust

4. % Juvenile

Question Number : 71 Question Id : 75322971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. # Gauva
2. ¥ Guava
3. # Gyuava
4. # Guawa

Question Number : 71 Question Id : 75322971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Gauva

2. ¥ Guava

3. # Gyuava

4. % Guawa

Question Number : 72 Question Id : 75322972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Accept

2. % Acept

3. % Eccept

4. % Acsept

Question Number : 72 Question Id : 75322972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Accept



2. % Acept
3. % Eccept
4. % Acsept

Question Number : 73 Question Id : 75322973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To do something above board

Options :

1. % Work too much

2. ¥ To do something openly
3. % To instigate

4. # To get fired from a job

Question Number : 73 Question Id : 75322973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To do something above board

Options :

1. % Work too much

2. ¥ To do something openly
3. % To instigate

4. # To get fired from a job

Question Number : 74 Question Id : 75322974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To blow one’s own trumpet

Options :

1. # To tell everybody about your sorrow



2. % To boast about one’s achievements
3. # A funeral procession

4. % A rash, cheeky women

Question Number : 74 Question Id : 75322974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To blow one’s own trumpet

Options :

1. # To tell everybody about your sorrow
2. % To boast about one’s achievements
3. # A funeral procession

4. % A rash, cheeky women

Question Number : 75 Question Id : 75322975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A building where the audience sit

Options :

1. ¥ Gymnasium
2. # Cemetery
3. % Auditorium
4. % Stadium

Question Number : 75 Question Id : 75322975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A building where the audience sit

Options :



1. # Gymnasium
2. # Cemetery
3. ¥ Auditorium
4. % Stadium

Sub-Section Number : 2
Sub-Section Id : 7532295
Question Shuffling Allowed : Yes

Question Id : 75322976 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Scientists estimate that each year in the U.S., outdoor air pollution shortens the lives of about 100,000 people by one to two decades.

As it turns out, much of this pollution originates not in a person’s own neighbourhood, but up to hundreds or even thousands of miles away in
neighbouring states. And, absent strong federal regulations, there’s very little Americans can do about it. On average, 41 percent of these air
pollution deaths in the U.S. resulted from what we call “secondhand smoke” emissions that crossed state lines.

This share has been declining over time, down from 53 percent in 2005, thanks in large part to reductions in sulfur dioxide emissions from the
electric power sector. However, not every sector, or every state, has been a success story.

The problem is like what people experience when they are exposed to secondhand cigarette smoke. The smoker endangers their own life the
most, but the smoke that gets passed on still poses serious health risks to those exposed.

Outdoor air pollution works this way on a national scale. States emit pollution that, with rare exception, causes the most air quality issues for
people within the same state. But that pollution also crosses state lines, leading to tens of thousands of additional early deaths.

Without strong regulations, people in neighbouring states have no control over their exposure to “imported” air pollution. They will simply have
to put up with it, just as restaurant diners or airline passengers used to do when seated near the smoking section.

Sub questions

Question Number : 76 Question Id : 75322977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Emission of harmful gases

2. # Smoke in neighbouring states

3. % Air pollution deaths

4. ¥ Secondhand smoke crossing state lines



Question Number : 77 Question Id : 75322978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. # Passive smoking poses serious health risks.

2. # Secondhand smoking decreases the life expectancy, resulting in early deaths.
3. # Smoke in one state can affect the life of people in another state.

4. ¥ Strong regulations have been put forth by the government but there is a lack of proper execution.

Question Number : 78 Question Id : 75322979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the statement- “not every sector, or every state, has been a success story” implies?
Options :

1. #® It means that no state carries the same potential as the other to control the air pollution.
2. ¥ It implies that not every state and sector takes the effects of air pollution seriously.

3. % It implies how every state has different ideologies towards curbing air pollution.

4. ® Tt gives clarity that it’s not mandatory that in a country all states will work in a same way.

Question Number : 79 Question Id : 75322980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘endanger’?
Options :

1. ¥ Protection

2. % Peril

3. % Damage

4. % Curb

Question Number : 80 Question Id : 75322981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What does the phrase “to put up with” means here?
Options :

1. # Support

2. # Swallow

3. % Tolerate

4. % Submit

Question Id : 75322976 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Scientists estimate that each year in the U.S., outdoor air pollution shortens the lives of about 100,000 people by one to two decades.

As it turns out, much of this pollution originates not in a person’s own neighbourhood, but up to hundreds or even thousands of miles away in
neighbouring states. And, absent strong federal regulations, there’s very little Americans can do about it. On average, 41 percent of these air
pollution deaths in the U.S. resulted from what we call “secondhand smoke” emissions that crossed state lines.

This share has been declining over time, down from 53 percent in 2005, thanks in large part to reductions in sulfur dioxide emissions from the
electric power sector. However, not every sector, or every state, has been a success story.

The problem is like what people experience when they are exposed to secondhand cigarette smoke. The smoker endangers their own life the
most, but the smoke that gets passed on still poses serious health risks to those exposed.

Outdoor air pollution works this way on a national scale. States emit pollution that, with rare exception, causes the most air quality issues for
people within the same state. But that pollution also crosses state lines, leading to tens of thousands of additional early deaths.

Without strong regulations, people in neighbouring states have no control over their exposure to “imported” air pollution. They will simply have
to put up with it, just as restaurant diners or airline passengers used to do when seated near the smoking section.

Sub questions

Question Number : 76 Question Id : 75322977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Emission of harmful gases

2. # Smoke in neighbouring states

3. % Air pollution deaths

4. ¥ Secondhand smoke crossing state lines



Question Number : 77 Question Id : 75322978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. # Passive smoking poses serious health risks.

2. # Secondhand smoking decreases the life expectancy, resulting in early deaths.
3. # Smoke in one state can affect the life of people in another state.

4. ¥ Strong regulations have been put forth by the government but there is a lack of proper execution.

Question Number : 78 Question Id : 75322979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the statement- “not every sector, or every state, has been a success story” implies?
Options :

1. #® It means that no state carries the same potential as the other to control the air pollution.
2. ¥ It implies that not every state and sector takes the effects of air pollution seriously.

3. % It implies how every state has different ideologies towards curbing air pollution.

4. ® Tt gives clarity that it’s not mandatory that in a country all states will work in a same way.

Question Number : 79 Question Id : 75322980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘endanger’?
Options :

1. ¥ Protection

2. % Peril

3. % Damage

4. % Curb

Question Number : 80 Question Id : 75322981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What does the phrase “to put up with” means here?
Options :

1. # Support

2. % Swallow

3. % Tolerate

4. # Submit
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 75322982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied oo & 7em gy S|
qH 3R BT a1 31U 34 & GUR Al

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 30
2. 34

3.qH
4.1

Question Number : 81 Question Id : 75322982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied oo & 7em gy Sifcy|
qH 3R BT 7T 31U 3 & GUR Al

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 30
2. 34

3.qH
4.1

Question Number : 82 Question Id : 75322983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feu ¢ It H 31y I S|
¢fR-R S, Ig ST S|

Options :

1. ¢ Jfdara® fepar-favo

2. % HIadrad fhar-fary

3. % RHarE® fhar-faRiyo
4. % gRAUEES fhar-farivo

Question Number : 82 Question Id : 75322983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T arR § 31y J1d HifoTU|
fR-¢fR Sielt, pIs ST SITa |
Options :

1. ¢ Jfaara® foear-favivo
2. % FHIAdrE® fhal-[aRyur
3. % RHaE® fhar-favyo
4. % gRATIERES fehar-fa=iyor

Question Number : 83 Question Id : 75322984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7T wreg 1 WY famdsg T
Hagld-T

Options :

1. ¢ 9 + HIg-T

2. ¥ g + HIg-l

3. % gY: + HIG-AT

4. % Hal + HIgAT



Question Number : 83 Question Id : 75322984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T 3z 1 T e v
HogIa-l

Options :

1. & gd + HIgAT

2. ® {q + YHIaA1

3. % IY: + YIgdl

4. % Hal + Y-l

Question Number : 84 Question Id : 75322985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & IUYe e &1 T B Nad RIM B il B
EARCIN KARGEC G2 BT

Options :
1. # dy
2. % did
3. ¥ JuWd
4. % qU

Question Number : 84 Question Id : 75322985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77U 976 & IUGa Teg BT 99 IR Rad RIM DI el DI
g faRt &l et @R 8 T

Options :

1. % dy

2. % dWd




3.
4. % qop

Question Number : 85 Question Id : 75322986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 31eg &1 faeH Yse J1d BITI
et

Options :
1. * 7Yy

2. % 94l
3. % {49
4.« Hddb

Question Number : 85 Question Id : 75322986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faeh| s F1d FIfTI
et

Options :
1. % Uy

2. % 44l
3. % HHq9
4.« Hddb

Question Number : 86 Question Id : 75322987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou Y Tree B Y Akt 1 o P

Options :

1. % 3ffdez4



2. % 3ffdwa
3.« 3fefteqor
4. % 3fmequ

Question Number : 86 Question Id : 75322987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 7Y <rec] H Y[ I BT 99 DI
Options :

1. % 3ffY=s

2. % 3ffa=a

3. ¢ 3fdieu

4. % 3ffHero

Question Number : 87 Question Id : 75322988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77T sg T o1 Ta! e T F1d BT
CINEC]

Options :

1. % Famdar

2. % UgphdieigH
3. % qfgdban

4. ¢ SfeieH:dR

Question Number : 87 Question Id : 75322988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71T <o i 1 Tl Wsg JH IATd BT
CINEI]

Options :



1. % fAamaR

2. % Hgd:aldgH
3. % glga:dal

4. ¢ SfEMAR

Question Number : 88 Question Id : 75322989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fQ T 9Ty 7 9T T DI |
I I&IH UgdT g |

Options :

1. ¥ Hqgard

2. % HHaArA

3. % Y[gdred

4, % HUETH

Question Number : 88 Question Id : 75322989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 1T 9Ty 1 9T T BT |
T Jd® gl |

Options :

1. ¢ Hqared

2. % HHATAH

3. % Y[garg

4. % PUMEFH

Question Number : 89 Question Id : 75322990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad arel O ¥ Y a1 &1 9949 Diford|



Options :
1. ¢ 394 UTg pAfSar @R
2. % I UG palS! Tl

3. % I Had U Hae! TTs |
4. % I UG Sarel @t

Question Number : 89 Question Id : 75322990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad areil B 9 Y aTerd &1 5+ Difora|
Options :

1. ¢ 394 Ul wanfear @t

2. % I U HAIS! WTs |

3. % IBI1 Had Urd paAlS! TTs |

4. % 39 UMD pASHl @R

Question Number : 90 Question Id : 75322991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad arer ® § TR d1e [ Do

Options :

1. ¢ R 7 & H U U R & d1G Jah| grad ol |

2. % PRI 7 W & Uge U foan 3R 9aeh! grad |

3. % O € QR A 9d B Ued UTd o, o g 39 9! grad 4|
4. % RIS = aD! G1ad &l Fiifch I Wl T U Ui b

Question Number : 90 Question Id : 75322991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad e 7 @ 9Rd arey 31 S|

Options :



1. ¢ R 7 & H U U HR & d1G Jah| grad ol |

2. % PRI 7 W & Uge U forarn 3R Waeh! grad |

3. % SN g1 QR A 9 # U I fora, o € 39 qad! arad |
4. % A - TD! Gad of Hifd 39+ T § Igd U b

Question Number : 91 Question Id : 75322992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gwwmﬁrﬁmwmﬁm|

Options :

1. % Sifg
2. % SIGRTRA
3. ¢ Q&M
4. % S

Question Number : 91 Question Id : 75322992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%WWWWWWWI

Options :

1. % Gifg
2. % GBS
3. ¢ SIBHl
4. % SM

Question Number : 92 Question Id : 75322993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U gt # Ty forme fag &1 SuaiT fhan S S9! ugad Hiforg|



3T 3TH HY W & Jab! Udl &
Options :

%9,

2.% 0, -

3.%

4.9

Question Number : 92 Question Id : 75322993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T a1y © foh g favre forg o1 IUAIT fovarn Se 391 Uga oifo |
3T 3{TH HY WTd & J&H! Udl §

Options :

1. %7,

2.% 0, -
3.% —:

4. |

Question Number : 93 Question Id : 75322994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T a19 # g fav™ ”RIg &1 SUdT {1 STei S9! Ugd HIfvig|
T AT gHA T 3R §

Options :

1. = |
2. % |
3.¢¥7
4. % ..

Question Number : 93 Question Id : 75322994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fou ¢ It | Ty forme g &1 SUaiT fohan SEn S9! Uga™ Sifvg|
T TS gH SR §

Options :

1% |

2. %)
3.7
4. % .

Question Number : 94 Question Id : 75322995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 fadwed o1 90 3 o1 T 70 JRTer & 31 &1 Jd9§ U ¥ oJad Hral o |
3 Y 3T i

Options :

1. % P gaa gl

2. % BT HH L Bl

3. % GRIGH

4. ¢ RATYY 9% &1 U

Question Number : 94 Question Id : 75322995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad uy ¥, fau M0 o faswedl & 9, 39 faded &1 904 B3 Sl f3U 7T gtk & 31 &1 99y U Y o Bl 5|
3 DI 3G FFre

Options :

1. % AP gga gl

2. % 3] HTH LE Bl

3. % GG

4. ¢ QR T B1 UG




Question Number : 95 Question Id : 75322996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%}ﬁff@ﬁt{%{ﬁ,ﬁﬂﬂﬁﬁﬁﬁ,wﬁwwmqw Hx ol foU U geTak & 31 &! W9y =0 ¥ ad dal g |
Bl

Options :

1. % Yyl gl

2. % GIU-IR fagH

3. % A g g

4. JUY-UY 9 Frell g1y

Question Number : 95 Question Id : 75322996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy &, fou U aR fawedl 8§ 9, 39 fawed &1 99 o Sl faU T GgTak & 3 &1 a98 ¥ ¥ had HRal 5|
EEN

Options :

1. # Ygcl 6l

2. % FY-R g

3. % Y G g

4. SUU-UY Y @Il g1y

Sub-Section Number : 2

Sub-Section Id : 7532297
Question Shuffling Allowed : Yes

Question Id : 75322997 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

TS TSI T 1 § | TR o TR WR Uid U fau 7 § | TRl &1 egdes Ue a1 YA Uy H IR fawed § § UE fadwen g |

HeTT ATac T oFH IRATON & BT [EX H 17 ATH 1962 DT 3T UT| Hed=T1 i YRIYD 18T HIATA & <SR ST e JT-R
et W N g3 | FIU J B I8 WHICH Soil-ER §-- BT b YT| 30 U DI YIHR HRA o [o18 Hed-T Iadl = USTe Foiif—aiT
PHIaSl GoNTg H “WIIeHd SOlARTT Ue & forg <&t 3. & griRaer foram 8ik I 1982 # “WIifeswsd soifair ot fezh +f e1ia a1




13T IdRe T & SR BT Iaal J0d &d 8 $d 6 I U | AGal 1994 T 11 o SfaRkel dRichd T qMHd g3 3R fale 8§ 39
Ugdll fHRM 19 9daR, 1997 P WY Yd Didfed FKASe THITH-87 W 6-3Halkel IEil gd & e & w0 U = g3 AT 0 58 I0d o
gfRreror 3R wiciforar sidfker o Taeiey-g7 e # faRivg o 8R1ad @ 18 &7 & U1 19 FdeR 1997 DI 3dfkel &) ugelt ISH HRA
&1 Hiop! T a9 314 5 fTaR 1997 1 T/ THadl Yo T [t | 3fales Tl &1 59 S| § SedHl Jadl died U SoRiEd! a-db
3T YA aUT 3R 3idier It faferaw Hoia, AR o, 3MT3a- Y0, 39S S8 3R AIshd TSIE XM o1 Hed-T gl B
T & 916 SARBT 3R URA H 3% UHR T 37 i TR e [ T | 1T A 370 Th R HIER BT 10 Hed-T 4T 8, HRd =
aﬁﬁwaw&ﬁ%s G Hede B Hel o) AT fbar 81 (0= o 3R UfaHT & 5o W I= R 3y & S avre R g,
9% al Ry I

Sub questions

Question Number : 96 Question Id : 75322998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Y 32 T S99 BT P UT?
Options :

o

1. ¢ WHICH Fol-aR
2. % Iy

3. % fo<iig Sifdert

4. % I RS

Question Number : 97 Question Id : 75322999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3% Ugd FIRM &1 Yofd &d g3 o
Options :

1. % 5 fquweR 1997

2. % 19 9dWR 1997

3. % 59d&R 1997

4. % 11 fq@wR 1997

Question Number : 98 Question Id : 753229100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3B T D T U
Options :

1. % 19 A1 1997

2. % 11 fdTTeR 1997
3. ¢ 17 HTE 1962

4. % 19 99FR 1997

Question Number : 99 Question Id : 753229101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fafes T & SRA ot foba Yaxg 2
Options :

1. %2

2.¥6

3.%5

4. % 4

Question Number : 100 Question Id : 753229102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUdad TR 1 IUge X a1 g
Options :

1. % R YR

2. % 3faRer amt

3. % WY we SuUs

4. ¢ HUAT Il

Question Id : 75322997 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
TS T o T | IR O STYR WR Ui Uy T 7Y € | eI &1 e9gdeh U aul Udidh Uy H 9R fawedl § ¥ 9el fawed g |
e AT BT S BIRATUN & HRATA X H 17 AR 1962 Y AT UT| o1 DI YRS RIef dA1d & <SR a1 Hded R




et W A g3 | F9U I B 38 WHICH Soll-ER a1 BT N UT| 30 U DI ADHR HRA o (o1 ST Irad - USTd Soii-aiT
BT TelTe H “WHIfCHA Fon-anTT Tea & forg <ol 3. & grikaan form 3R 94 1982 # “WHifewd soliffafer o1 foih +ff s =
I3 3faRe a1 & SR Hed-T I/9al Tod ad 3 $d 6 Jaxd U | AGaT 1994 F A1 & SfdRel HRihH T M g3 MR e T 3w
Ul fARM 19 AdeR, 1997 6] WY Ycd DId{adl T THEITY-87 WR 6-3dRel IE adf & TR & =0 U e gl | A 8 o8 99 &
URRrefur 3R Piafaar siafer o Tacivy-g7 e & faRivg ot 8Rgd T &1 637 & UYTd 19 TdeR 1997 Sl 3falel 1 Uga 38H HRA
&1 HichT fe 9 3814 5 AR 1997 DI S84 THAd1 Ydd Jeud fova | Sfafe Ol &1 59 ¢H 8 ded d1adl Aied Ue ORI aqi-db
3T YA Ut 3R siafer arE faferaw Aeid, ARG ot Tsa- YA, Sfas S84 iR AIgehd TSy WA U | Hed-T Iraal ot
T & 918 SARST 3R URA H 3d UHR F 37 Ui TR e foa T | 1T 30 Th R HIER BT 10 Hed-T 4T 8, HRd =
&mtﬁﬁmamﬁgggﬂs e Hede B Bedl o) AT fbar 81 (0= o 3R UfaHT & 5o W I8 R 3y &1 S avre e g,
9% Gl TIERUY I

Sub questions

Question Number : 96 Question Id : 75322998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU q I T I BT Wb T2
Options :

1. ¢ WRHICH SOl

2. % Iy

3. % foxitg S

4. % U FgR®H

Question Number : 97 Question Id : 75322999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Ut R 1 o eHd el gs Ui
Options :

1. ® 5 fq@R 1997

2. % 19 &R 1997

3. % 5494} 1997

4. % 11 fagrR 1997

Question Number : 98 Question Id : 753229100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3P O H Hd 31T UT?
Options :

1. % 19 1™ 1997

2. % 11 fagmR 1997
3. ¢ 1799 1962

4. % 19 TR 1997

Question Number : 99 Question Id : 753229101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fdfes T & SRM Fd foba Tag A2
Options :

1. %2

2.¥6

3.%5

4, % 4

Question Number : 100 Question Id : 753229102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TR BT IUgad MSd FT G
Options :

1. ¥ gW HYR

2. % 3faRer gmt

3. % HI9H gl IuUs

4.« DUl dIadl

Disciplinel



Group Number : 6

Group Id : 7532296
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 7532296
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 7532298
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 753229103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What resources benefited Britain to undergo industrial revolution?
Options :

1. ¥ Coal and Iron

2. * Iron and Cobalt

3. % Coal and Copper

4. % Copper and Cobalt



Question Number : 101 Question Id : 753229103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NN Hifd I ToRA o o fore o fareT Tmeql 4 any gam
Options :

1. ¢ BT 3R Al

2. % WAeT 3R PlaTeT

3. % PHIAT 3R drdl

4. % IS 3R HldTee

Question Number : 102 Question Id : 753229104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tribal movement ‘Santhal Rebellion’ took place in
Options :

1. % 1835

2. % 1840

3.9 1855

4. % 1845

Question Number : 102 Question Id : 753229104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SO 3Gl uTd fagie! Hgaml
Options :

1. % 1835

2. % 1840

3. ¥ 1855

4, % 1845




Question Number : 103 Question Id : 753229105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of ‘Movement — Region’ is correct?
I. Moplah Rebellion — Malabar
II. Tebhaga Movement — Bengal

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 103 Question Id : 753229105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fTEIT — & BT Faffad & o a1 g\ I8t 32
L. HYoeTl faig - ATelaR

1. AU SHiGTe — STTel

Options :

1. % ad [

2. % Had Il

3. 1qUT I gHl

4. % GG

Question Number : 104 Question Id : 753229106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following philosophies had its roots in French Revolution?
Options :

1. ¥ Modern Nationalism

2. % Communism

3. # Despotism



4. % Neoliberalism

Question Number : 104 Question Id : 753229106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffed # 9 forg g3 & Ho i sifa & 92
Options :

1. ¢ MY PTG

2. % {gdlq

3. % R

4. % 9-IGRATEIE

Question Number : 105 Question Id : 753229107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In context of French Revolution who was the Controller General of Finances in 17747
Options :

1. ¥ Anne Robert Turgot

2. # Maximilian Robespierre

3. % Jacques Necker

4. # Charles Calonne

Question Number : 105 Question Id : 753229107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIRiT i & Tg H, 1774 ® o o e -das o1 &
Options :

1. ¢ TRRISE I

2. % HfqafHfer AR

3. % Sy AR

4. % g1 daH




Question Number : 106 Question Id : 753229108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of French revolution, which among the following did NOT deal with Finances in France?
Options :

1. % Anne Robert Turgot

2. % Jacques Necker

3. # Charles Calonne

4. % Jean — Paul Marat

Question Number : 106 Question Id : 753229108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e il 3 el ¥, FrafiiR & & i whia & R & weifire e e
Options :

1. ® YIRS

2. % SR AP

3. % 9 BdA

4.« S - Uld W1

Question Number : 107 Question Id : 753229109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, did Marie Antoinette got caught in between a scandal of diamond necklace?
Options :

1. % 1781

2. % 1783

3. ¥ 1785

4. % 1787

Question Number : 107 Question Id : 753229109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore gy #, B TTHE ER & BR P T Ulerdl & aid B 715 1 2
Options :

1. % 1781

2. % 1783

3. ¥ 1785

4. % 1787

Question Number : 108 Question Id : 753229110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The French Revolution entered its most violent phase, the Terror in year.
Options :

1. * 1790

2.9 1794

3. % 1799

4. % 1786

Question Number : 108 Question Id : 753229110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Shifd 3 o Tey feed x0T g TR A Iy o AT fopar |
Options :

1. ® 1790

2.9 1794

3. % 1799

4. % 1786

Question Number : 109 Question Id : 753229111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When did the Revolt of 1857 start?
Options :

1. ¥ 10 May 1857

2. % 11 May 1857

3. % 12 May 1857

4. % 13 May 1857

Question Number : 109 Question Id : 753229111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1857 1 fAgIE e L= g1 UM
Options :

1. 10 % 1857

2. % 1173 1857

3. % 1278 1857

4. % 1373 1857

Question Number : 110 Question Id : 753229112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who led the revolt of 1857 in Kanpur?
Options :

1. % Abdul Ali Khan

2. % Rani Laxmi Bai

3. % Bakht Khan

4. ¥ Nana Saheb

Question Number : 110 Question Id : 753229112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DR H 1857 o fdIg BT A fbaa favam U1

Options :



1. % 3fegd 3cil WM
2. % I qeiErs
3. % %1 @H

4.« AT 4T8d

Question Number : 111 Question Id : 753229113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the president of the Indian National Congress during its first session?
Options :

1. % A.O. Hume

2. % Dadabhai Naoroji

3. % W.C. Banerjee

4. # George Yule

Question Number : 111 Question Id : 753229113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AP B B T YA H 3ea8 DI AT
Options :

1. % T3l ggH

2. % TIETHTS RISl

Question Number : 112 Question Id : 753229114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the editor of the newspaper Bengalee?
Options :

1. ¥ S.N Banerjee



2. % AM Bose
3. % Dwarkanath Tagore
4. # Harish Chandra Mukherjee

Question Number : 112 Question Id : 753229114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHTTEH SRITR & HUTGdH DI & 2
Options :

1. ¢ TH.A. St

2. % UUH. 99

3. % GRPMY IR

4. % OIS g@oit

Question Number : 113 Question Id : 753229115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who gave the “Drain Theory” which proposed that the British exploited India economically and sent resources back to Britain?
Options :

1. ¥ Dadabhai Naoroji

2. % Madan Mohan Malviya

3. % William Digby

4. ¥ George Yule

Question Number : 113 Question Id : 753229115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mm@'ﬁ”wmm%ﬁ%mﬁa%mm%%ﬁ%m%mﬁ@m%ﬁﬂﬁﬁ%m
?
Options :

1. ¢ GIGIHTS ARISht



Question Number : 114 Question Id : 753229116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who attacked the Moderates using the Safety Valve theory?
Options :

1. * Bal Gangadhar Tilak

2. % A.O Hume

3. ¢ Lala Lajpat Rai

4. % Gopal Krishna Gokhale

Question Number : 114 Question Id : 753229116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R dTed RIGTd BT ITART Hd §U RTURE IR forem g fosan ur
Options :

1. % §TeT TMeR fories

2. % T3l ggH

3. ¢ Tl oSTgd X

4. % MU HUT TREc

Question Number : 115 Question Id : 753229117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, was Poona Sarvajanik Sabha formed?
Options :

1. % 1880

2.9 1870



3. % 1890
4. %* 1860

Question Number : 115 Question Id : 753229117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fort o &, g1 ATdeii-es THT BT T3+ o T T
Options :

1. % 1880

2.9 1870

3. % 1890

4. % 1860

Question Number : 116 Question Id : 753229118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1905, the Russian parliament was also known as
Options :

1. ¥ Duma

2. % Kremlin

3. # Soviet

4. % Ballot

Question Number : 116 Question Id : 753229118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1905 H, 34t TG Bl & =0 H i ST ST o
Options :

1. « SJHI

2. % hHfeH

3. % gifggd




4. % Sqrc

Question Number : 117 Question Id : 753229119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which treaty ended the Russo Japanese war of 1904-1905?
Options :

1. # Treaty of Guadalupe Hidalgo

2. # Treaty of Ghent

3. % Treaty of Portsmouth

4. # Treaty of Paris

Question Number : 117 Question Id : 753229119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1904-1905 & =T SITUT g b1 foby Y = T fopam um
Options :

1. % qrerqy fReren & wfd

2. % YT P

3. ¢ OICTHTSY Bt fey

4. % UG 1 Y

Question Number : 118 Question Id : 753229120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the revolution that was based on a concrete and explicit theory of revolution.
Options :

1. ¥ Russian Revolution

2. # French Revolution

3. ¥ German Revolution

4. % Bolivarian Revolution



Question Number : 118 Question Id : 753229120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 Hifa BT 1 IAT3T S Hifd & Th Hd 3R WY R W 3memia ot
Options :

1. ¢ =3 ifd

2. ® THR sifd

3. % S wifd

4. % qifcrafxe wifd

Question Number : 119 Question Id : 753229121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tsarist autocracy that originated in the medieval period was influenced by
Options :

1. #* Persian tradition

2. ¥ Mongol tradition

3. % Byzantine tradition

4. # Caliphate tradition

Question Number : 119 Question Id : 753229121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR ARG, S Aedrei Al H SRy gs 2, griuyifad ot
Options :

1. % BRI W]

2.« TN TRWRT

3. % diolfe IR

4. % RIS W



Question Number : 120 Question Id : 753229122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs is correct?
I. Decembrists — patriotic, intelligent young men
II. Russian Intelligentsia — well-educated people

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 120 Question Id : 753229122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 & w1 gH 98l 82

1. ey — SRy, §fGHM ga1 g2y
I1. =3 gfgohar — grRiféd an

Options :

1. % $ad 1

2. % Had Il

3. ¢ 1 AU Gl

4. % I I

Discipline2
Group Number : 7
Group Id : 7532297
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 7532297
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 7532299
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 753229123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the first country where socialism was created.
Options :
1. # United States of America
2. % ltaly
3. ¥ Soviet Russia

4. # Britain

Question Number : 121 Question Id : 753229123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugdl o1 § STg! GHISTare a1 fAAfor ga |




Options :

1. % e Iy AR
2. % gl

3. ¢ Qifdgd =4

4. % fgcq

Question Number : 122 Question Id : 753229124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year, Paris Commune happened?
Options :
1. ¥ 1871
2. % 1872
3. % 1873
4, % 1874

Question Number : 122 Question Id : 753229124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore au o, U g g um
Options :

1. ¥ 1871

2. % 1872

3. % 1873

4. % 1874

Question Number : 123 Question Id : 753229125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first International Working Men's Association was formed by
Options :

1. % David Hume



2. % Karl Marx
3. # Michel Foucault
4. % Friedrich Nietzsche

Question Number : 123 Question Id : 753229125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uga SRS HrRIGIRUT goy THIRTEH &1 T3 &R far T uT|
Options :

1. % SfdeggH

2. ¢ BIc AR

3. % iR Bidlee

4. % ThsRe MUeE

Question Number : 124 Question Id : 753229126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is correct?
I. Benito Mussolini — Fascism
II. Adolf Hitler — Nazism

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 124 Question Id : 753229126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faffed 4 @ o I gw 98 22
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 125 Question Id : 753229127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the official philosopher of Fascism and described it as a total conception of life?
Options :

1. % TItalo Balbo

2. % Giovanni Gentile

3. # Galeazzo Ciano

4. % Sadao Araki

Question Number : 125 Question Id : 753229127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRIAG & USRS S D A 3R I 3 Sila b1 THY SfAYRUN & =0 H aftfd fabar ur
Options :

1. % SCTdl el

2. ¢ foIaHl Sersd

3. % Trell R

4. % Herell 3R

Question Number : 126 Question Id : 753229128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Empire was ruled by the Austrians and the Hungarians?
Options :



1. # Russian Empire
2. # Ottoman Empire
3. % Britain Empire

4. ¥ Hapsburg Empire

Question Number : 126 Question Id : 753229128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T SR §ARTH gRT frd WHTsg IR XM faa Tt
Options :

1. # =9y

2. % I QrHTY

3. % fges gy

4.« TS QYT

Question Number : 127 Question Id : 753229129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many organs are involved in the United Nations?
Options :

1. % Four

2. # Five

3. % Six

4. % Seven

Question Number : 127 Question Id : 753229129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 1Y Y fd o =i g
Options :

1. % IR



2. % U
3. ¢ B8
4. % gd

Question Number : 128 Question Id : 753229130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Germany signed the Treaty of Versailles?
Options :

1. * 1918

2.9 1919

3. % 1920

4. % 1921

Question Number : 128 Question Id : 753229130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg 8 1, S A 91T o1 T IR gwaieR fy O
Options :

1. * 1918

2.% 1919

3. % 1920

4. % 1921

Question Number : 129 Question Id : 753229131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In context of the debt on Germany, which of the following statements is correct?
I. London Treaty 1953 agreed to suspend the payment of a reparations till the two Germanys united.
II. The last payment of debt was made by Germany in 2019.

Options :
1. ¥ Only I



2. % Only II
3. ®* BothIand II
4. % Neither [ nor 11

Question Number : 129 Question Id : 753229131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST R Pl & T F, Fafiied § 4 & T HU- el 52
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % AT I

Question Number : 130 Question Id : 753229132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of International Court of Justice (ICJ), which of the following statements is correct?
I. The International Court of Justice arbitrates only in water disputes.
II. Environmental jurisdiction is not included in the power of International Court of Justice.

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 130 Question Id : 753229132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS =marer (3irs T o) & Jeu #, Fafafed # ¥ &H 91 3 g 7



1. RIS UTed dhael odt fadTa] H AR Rl 5|

I1. GATaRU &R RIS =amarerd &1 Rfekd § Afiret 181 5 |
Options :

1. % Had 1

2. % HAdII

3. % [ UGl

4. TIRIIATRII

Question Number : 131 Question Id : 753229133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘mantle plume theory’ was first proposed by
Options :

1. # William Buckland

2. % Inge Lehmann

3. % K. E. Bullen

4. ¥ ]. Tuzo Wilson

Question Number : 131 Question Id : 753229133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“UyTaR U Rigia I3 ugd GRI UdTiad foam mar |
Options :

1. % fafergy gacls

2. % SN AGHA

3. % §3. qad

4. ¢ . goll faee

Question Number : 132 Question Id : 753229134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a terrestrial planet?
Options :

1. # Neptune

2. ¥ Venus

3. % Jupiter

4. % Saturn

Question Number : 132 Question Id : 753229134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol @ 3 o 91 Ricdld 78 82

Options :
1. % qUgH
2. ¥ XD
3. % ggwid
4. % H

Question Number : 133 Question Id : 753229135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following seismic waves travel with fastest speed through solid materials?
I. Primary waves
II. Surface waves

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. # Neither I nor II

Question Number : 133 Question Id : 753229135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad & 9 & O Yohuia il 319 gardl & A1y o o ool T o AT 6l 62
1. T a3

1. FeTg! ol

Options :

1. ¥ $Had |

2. % Had Il

3. % [ QYT gHl

4. % I I

Question Number : 134 Question Id : 753229136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In geology, those folds in which the angle between two limbs of a fold is an acute angle are called
Options :

1. # Open folds

2. # Fan folds

3. ¥ Closed folds

4. ¥ Plunge folds

Question Number : 134 Question Id : 753229136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA H, 3 To o8 U aa o &1 S h T BT D0 U A U Il 5, HEA g |
Options :

1. % g da-

2. % B ga

3. ¢ ¥ aad

4. % @S gad

Question Number : 135 Question Id : 753229137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding karst topography?
I. Karst window is formed due to collapse of upper surface of sink holes or dolines.
II. Landforms are produced by chemical weathering of carbonate rocks.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 135 Question Id : 753229137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR VAP & deu H FHaferied & § o1 91 &y 981 52

[ TR 43S i 81t 1 I3 ! HUS T &b &g+ & BRI ST g |
1. BT TEHI & IMRMS LT gRT Y-l o1 Fafor grar g
Options :

1. % $ad 1

2. % dhad Il

3. ¢ 1 AU Gl

4. % I I

Question Number : 136 Question Id : 753229138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A biosphere is a global ecosystem composed of
I. Organic component
II. Energy component

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 136 Question Id : 753229138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% SigHsd q §71 U afYes uiRfUfae) a7 g1
1. B[P gch
1. ol gch

Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 137 Question Id : 753229139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The temperature zone called ‘Temperate zone’ extends between in both the hemispheres.
Options :

1. # 66.5 degree latitude and the poles

2. % 23.5 degree and 66.5 degree latitudes

3. % 0 degree and 23.5 degree latitudes

4. # (0 degree and 66.5 degree latitudes

Question Number : 137 Question Id : 753229139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiYT0T &5 AT ATIHT & S g | & o9 fawqd gIaT g |
Options :

1. % 66.5 fSUt sreiwr 3R @

2. ¢ 23.5 &t 3IR 66.5 T&3M sreri=

3. % 0 f&Ut 3fR 23.5 &3l et



4. % o {3 IR 66.5 f&lt araia

Question Number : 138 Question Id : 753229140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘Muggy’ in a climograph represents which of the following climatic conditions?
I. Hot and humid
II. Cool and dry

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 138 Question Id : 753229140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP FAGHREG H A7 e FUfaRad & ¥ forg Sararg aRfRufaal &1 ufafafa srdr g2
L. 7 3R 31

1. 33T 3R &1

Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 139 Question Id : 753229141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of middle cloud?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. Cirrus clouds

2. Nimbo-stratus clouds

3. Cumulo-nimbus clouds

4. Stratus clouds

Question Number : 139 Question Id : 753229141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad # 3 S 7 d1ed 31 U6 ISR &7
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. RRE 91gd

2. el ccu aga

3. A HaY dred

4. g SIed

Question Number : 140 Question Id : 753229142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following grasslands is found in New Zealand?
Options :

1. # Pampas

2. % Veld

3. #* Downs

4. ¥ Canterbury



Question Number : 140 Question Id : 753229142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiyd o ¥ &9 91 919 &1 HeH goilcl H 9T STl 82

Options :
1. % Jug
2. % I
3. % SI3Y
4. ¥ HeXa
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 753229143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors is responsible for deciding the appropriate map scale?
I. Size of the paper
II. The magnitude of an area to be represented

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 141 Question Id : 753229143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I. DI hl HIY
11. Ui fu S a1t &= &1 ufamo

Options :

1. % Had |

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 142 Question Id : 753229144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding incoming solar radiation?
I. Oceanic water surface receives more insolation than land surface.



II. A land surface loses heat through outgoing terrestrial radiation very quickly.
Options :

1. % Only I

2.% Only II

3. % Both Iand Il

4. ® Neither I nor II

Question Number : 142 Question Id : 753229144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 AT R fafau & e & Fafafed o 3 &F 91 &3 el 82
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Options :

1. % PHadl

2. ¥ Had Il

3. % [qUT el
4. % 1B

Question Number : 143 Question Id : 753229145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are several instruments to measure relative humidity. Which of the following statements is correct regarding these instruments?
I. Hygrometer uses a bunch of human hair to measure relative humidity.
II. Psychrometers are a pair of thermometers.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 143 Question Id : 753229145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATRIII

Question Number : 144 Question Id : 753229146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the rainy season of India, the Bay of Bengal current brings the heaviest rainfall in which region?
Options :

1. % Kasauli

2. # Cherrapunji

3. % Shillong

4. ¥ Mawsynram

Question Number : 144 Question Id : 753229146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & au Bq &, ST b1 WISl &1 YR forg &1 J Tad 31fe auf arht g2
Options :

1. %

2. % TRIYS

3. % fRra

4. ¢ HIRFRM



Question Number : 145 Question Id : 753229147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bara Lacha pass connects the Leh district to
Options :

1. ¥ Manali

2. % Gangtok

3. # Srinagar

4. % Nainital

Question Number : 145 Question Id : 753229147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRT 9T &1 g fordl &t Joisdie |
Options :

1. ¢ HATeo!

2. ® TCIH

3. % JMTR

4. %

Question Number : 146 Question Id : 753229148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The largest freshwater natural lake in India is
Options :

1. % Vembanad lake

2. # Tso Pangong lake

3. ¥ Waular lake

4. ¥ Govindsagar lake

Question Number : 146 Question Id : 753229148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HRA # Mt I &1 Iad 98! Tipfad Sid gl
Options :

1. % TS o

2. % A UM Sia

3. ¥ gR 9|

4. % MiJcEFR 3

Question Number : 147 Question Id : 753229149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the longest tributary of the Ganga river?
Options :

1. % Gomti river

2. % Yamuna river

3. ® Son river

4. % Kosi river

Question Number : 147 Question Id : 753229149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o1 A 7 7dl ot e el Jgrad A B 2
Options :

1. % Tt At

2. ¢ QAT

3. % G Ad]

4. % A

Question Number : 148 Question Id : 753229150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which type of soil is mainly found in the Indus-Ganga-Brahmaputra plains?
Options :

1. # Black soil

2. % Alluvial soil

3. # Laterite soil

4. % Red soil

Question Number : 148 Question Id : 753229150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1ol el

2. ¥ Sairg fiel

3. % dexrge et

4. % ord gt

Question Number : 149 Question Id : 753229151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Considering the longitudinal divisions of the Himalaya, which of the following is correctly matched?
I. Kumaun Himalaya — Nanda Devi mountain

II. Central Himalaya — Kanchenjunga

II1. Eastern Himalaya — Annapurna mountain

Options :

1. % Only II
2. % Tand II
3. % Il and III
4, % Only I

Question Number : 149 Question Id : 753229151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % had 11

2.¥ 1 dUTII

3. % [ dUTIIT

4. % Had |

Question Number : 150 Question Id : 753229152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Density of population is expressed as
Options :

1. ¥ number of persons per square kilometre
2. ® number of individuals per house

3. ® number of living species per kilometre

4. ® number of houses per unit area

Question Number : 150 Question Id : 753229152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % Ufq O TG & Ta

3. % Ufq frdHiex Shfad usTfadl & TRe
4. % YRASHE 8 T Wi Bt I=A




Question Number : 151 Question Id : 753229153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the factors on which the location of an industry depends?
Options :

1. # Infrastructure

2. % Capital

3. # Entrepreneur

4. ¥ Population

Question Number : 151 Question Id : 753229153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ATYRYT AT

2. % Guit

3. % JgH

4. ¥ SAHET

Question Number : 152 Question Id : 753229154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the industrial clusters of India?
I. Mumbai-Pune industrial region

II. Madurai-Coimbatore-Bangalore industrial region

III. Darjeeling-Siliguri industrial region

I'V. Kanpur-Lucknow industrial region

Options :

1. # II, Il and IV
2. % Tand IV
3.9 Jland II

4. % Il and IV



Question Number : 152 Question Id : 753229154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o § @ HF J 4Rd F Nafie g9 &
1. G=-g01 S &

1. AERR-PIISR-TTAR SieNfie &

111 gISTferT-Rieiie siienfie &=

V. FHR-TETS SNefe &

Options :

1. %= I, [T ddT IV
2. % ITdUT IV
3.9 14T 1T

4, % M dUT IV

Question Number : 153 Question Id : 753229155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country is the largest producer of pulses?
Options :

1. * China

2. % South Africa

3. % India

4. % Australia

Question Number : 153 Question Id : 753229155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 2 STl BT Fo I8T SUTCSH & 2

Options :
1. % 94
2. % CfEror 3TplehT



3. ¥ YRd
4. % 3feferan

~

Question Number : 154 Question Id : 753229156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Corn belt region extends from which state in the United States of America?
Options :

1. #* Florida

2. % Texas

3. # Colorado

4. ¥ Ohio

Question Number : 154 Question Id : 753229156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B See & Tgad g 3ARST H g I I et gan g2
Options :

1. % TAINST

2. % ¢

3. % BIARTSI

4. St

Question Number : 155 Question Id : 753229157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs of ‘Shifting agriculture name — Country’ is correct?

I. Ladang — Malaysia

II. Watra — Vietnam

II1. Conuco — Venezuela

Options :

1. * Only I



2.% Tand III
3. % Tand II
4. % [ Il and III

Question Number : 155 Question Id : 753229157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ad [

2. T dUT I
3% 14T

4, % I, I dYT I

Question Number : 156 Question Id : 753229158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which mode of transport is dominant in India?
Options :

1. ¥ Roads

2. % Railways

3. # Ports

4. % Aviation

Question Number : 156 Question Id : 753229158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B URdg &1 S Iq1 1T T 82
Options :




1. ¥ g
2. % ¥dq
3. % UG
4. % faqur—

Question Number : 157 Question Id : 753229159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an LPG pipeline constructed by the Gas Authority of India?
I. Jamnagar-Loni pipeline

I1. Hajira-Bijapur-Jagdishpur pipeline

Options :

1. % Only I

2. % Only II

3. % Both I and II

4. ¥ Neither I nor II

Question Number : 157 Question Id : 753229159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I YR 19 wfdeor gRT Rftfa vadish urguars 82
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Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I

Question Number : 158 Question Id : 753229160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a slow on-set disaster?
Options :

1. % Earthquake

2. ¥ Drought

3. # Tsunami

4. % Tornado

Question Number : 158 Question Id : 753229160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol @ 3 oF 9@ ue i 3ffF-3e emua g2
Options :

1. % Y&y

2. ¥ Ul

3. % Al

4. % TRAS!

Question Number : 159 Question Id : 753229161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The very famous ‘Bhuj Earthquake’ which took many lives on Republic Day occurred in
Options :

1. #® 2007

2.9 2001

3. % 1997

4. % 2011

Question Number : 159 Question Id : 753229161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URIG Yo Yh T FoR TToTci faas R s @l ot o ot o, T gfed gof ol

Options :



1. % 2007
2. %2001
3. % 1997
4. % 2011

Question Number : 160 Question Id : 753229162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All the given hazards are exogenous except
Options :

1. # Cyclones

2. % Lightning

3. ¥ Hailstorm

4. % Volcanic eruption

Question Number : 160 Question Id : 753229162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P e feu e uv IR Sfgelta g
Options :

1. % dehdld

2. % AR foeieit

3. % 39y

4. ¢ SAAEE faepie
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Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 75322911

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 753229163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vulnerability to a particular natural hazard or disaster comprises a set of components. Such vulnerability components include which of the
following?

I. Name of a hazard or a disaster.

II. Vulnerability community including both terrestrial and marine community.

II1. Resistibility of materials of physical structures.

Options :

1. #* TIand II

2. % Il and III
3. % land III

4. 1,11 and 111



Question Number : 161 Question Id : 753229163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdYTII

2. % I dYTIII
3. % 1T dYT I
4. 1 11 dYTIII

Question Number : 162 Question Id : 753229164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A government needs to maintain buffer stock of food grain to
L. control inter-seasonal price fluctuations
II. run the public distribution system

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 162 Question Id : 753229164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % AT I

Question Number : 163 Question Id : 753229165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Economic development deals with the problems of , whereas economic growth deals with the problems of
Options :

1. ¥ underdeveloped countries, developed countries

2. % high GDP countries, low GDP countries

3. # developed countries, underdeveloped countries

4. ® independent economy, dependent economy

Question Number : 163 Question Id : 753229165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % ad IR, T sfdeqaw

Question Number : 164 Question Id : 753229166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following indicators reveal gender-based performance in education?
I. Gross Enrolment Ratio
II. Gender parity index

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 164 Question Id : 753229166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAd Il
3. QYT 11 gl
4. % AT I

Question Number : 165 Question Id : 753229167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The United Nations Development Programme introduced the Human Poverty Index (HPI) in which year?
Options :

1. % 2010

2. %1990

3. % 2005

4.+ 1997

Question Number : 165 Question Id : 753229167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % 2010
2. % 1990
3. % 2005
4.+ 1997

Question Number : 166 Question Id : 753229168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the dominant sector in India’s GDP?
Options :

1. # Primary sector

2. ¥ Service sector

3. % Secondary sector

4. # Quaternary sector

Question Number : 166 Question Id : 753229168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafriad 3 9 S & YRd 3 S 3 T 8 2
Options :

1. % Trfie &

2. a1 &

3. % fgdias &=

4. % TG &

Question Number : 167 Question Id : 753229169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following functions of the Reserve Bank of India is correct?
I. Banker to banks
II. Issuer of currency

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 167 Question Id : 753229169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I §! BT AR
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Options :

1. % had

2. % Dhad I

3. 1qUT I Ml

4. % AIGIAE I

Question Number : 168 Question Id : 753229170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Self Help Group (SHG) in India can be
L. registered
II. unregistered

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 168 Question Id : 753229170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 169 Question Id : 753229171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a private sector bank in India?
Options :

1. # Bank of Baroda

2. % RBL bank

3. % Bank of Maharashtra

4. % Indian overseas bank

Question Number : 169 Question Id : 753229171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed & 9 o1 91 4Rd & U Ao 871 §& 82
Options :

1. % § 3P Ferar

2. ¢ REITA o

3. % % T HERTY

4. % ST N I

Question Number : 170 Question Id : 753229172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correctly matched?
I. Government bonds — Long-term securities
II. Treasury bills — Short-term securities

II1. Certificate deposits — Short term note

Options :

1. # Iand II

2. ¥ I, 11 and III
3. % Only I

4. % II and III

Question Number : 170 Question Id : 753229172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® IdYT 10

2. 1, 1 AYTIII
3. % Had |
4. % 11 QUTIII

Question Number : 171 Question Id : 753229173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of concurrent list in the Indian constitution has been borrowed from the constitution of which of the following countries?
Options :

1. # United States of America

2. ¥ Australia

3. % Canada



4. * Treland

Question Number : 171 Question Id : 753229173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % o Iy SR

2. ¢ 3fifer

3. % PpAlST

4. % MRS

Question Number : 172 Question Id : 753229174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Items such as defence and armed forces are included in the list of the Indian constitution.
I. Union list
II. Concurrent list

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 172 Question Id : 753229174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ BHad |



2. % Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Question Number : 173 Question Id : 753229175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the function of municipal bodies in India?
Options :

1. ¢ Policy making for the central governement as a think-tank

2. % Build infrastructure of development like roads

3. ¥ Maintain community assets

4. % Manage and control of health at the local level

Question Number : 173 Question Id : 753229175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ U fUp-3Fh & U H g TRHR & forg ifa a1
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Question Number : 174 Question Id : 753229176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Indian federalism, two broad types of centralisation of federal power is found. Which of the following are not those types?
I. Circumstantial
II. Consensual

Options :
1. % Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 174 Question Id : 753229176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad 1

2. % HAd II

3. % [ QYT G

4. AR

Question Number : 175 Question Id : 753229177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian parties was the largest member of the coalition of National democratic alliance in 1999?
Options :

1. ¥ Bharatiya Janta Party

2. # Indian National Congress

3. ¥ Nationalist Congress Party

4. ¥ Rashtriya Janata Dal

Question Number : 175 Question Id : 753229177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YR SiHar uref




Question Number : 176 Question Id : 753229178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
candidates are the candidates who contest polls but is not affiliated to any political party.
Options :
1. % Partisan
2. % Nominated
3. % Independent
4. % Public

Question Number : 176 Question Id : 753229178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® J&eR
2. % AfAd
3. ¢ WA
4, % SAdl

Question Number : 177 Question Id : 753229179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a recognized National Party of India?
Options :

1. # All India Trinamool Congress

2. % Bahujan Samaj Party



3. % Communist Party of India
4. ¥ Aam Aadmi Party

Question Number : 177 Question Id : 753229179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3R YR JUIe By

2. % Fgo A Urel

3. % YR SRR gl

4. 319 3reH urdf

Question Number : 178 Question Id : 753229180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did the Lok Sabha election get deferred due to the proclamation of National Emergency?
Options :

1. % 1977

2. % 1975

3.¥ 1976

4. % 1974

Question Number : 178 Question Id : 753229180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1977

2. % 1975

3.9 1976




4. % 1974

Question Number : 179 Question Id : 753229181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian states have the largest number of Vidhan Sabha seats in the assembly?
Options :

1. ¥ Uttar Pradesh

2. # Madhya Pradesh

3. # Karnataka

4. % Andhra Pradesh

Question Number : 179 Question Id : 753229181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod YR I &1 b & Jad i faum ey e 82
Options :

1. ¥ WU

2. ® QL YSH

3. % Bich

4. % YT

Question Number : 180 Question Id : 753229182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, elections to the panchayats are held after every years.
Options :

1. # four

2. # three

3. % six

4. ¥ Five



Question Number : 180 Question Id : 753229182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % oA
3. % 9%
4. ¥ Ug
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 75322912
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 753229183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements are correct regarding social democracy?
I. Social democracy is based on a strong commitment to equality.
II. Social democrats support the idea of welfare state based on redistribution

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 181 Question Id : 753229183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 182 Question Id : 753229184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a principle of a socialist democracy?



Options :

1. ¥ Despotism
2. # Moralism
3. % Rationalism

4. ¥ Egalitarianism

Question Number : 182 Question Id : 753229184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ R

2. % I

3. % qohdlg

4, % JHJCIQ

Question Number : 183 Question Id : 753229185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is responsible for appointing the Chief Election Commissioner in India?
Options :

1. # Vice President of India

2. % Attorney General Of India

3. % The President of India

4. % Prime Minister of India

Question Number : 183 Question Id : 753229185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % YRd & IWIFUfd
2. % HRA & I o Ra
3. ¢ HRd & AFUfd

4. % YRd P YU HA

Question Number : 184 Question Id : 753229186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 1959, the Royal Democratic constitution of Nepal was drafted by
Options :

1. # King Birendra

2. ¥ King Mahendra

3. # King Narayan Shah

4. % King Tribhuvan

Question Number : 184 Question Id : 753229186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IS RS

2.« Sl He%

3. # X1 ARTIUT RTe

4. % ST FAYAH

Question Number : 185 Question Id : 753229187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding ‘Ranacracy’ in Nepal?
I. The Rana rulers codified the Nepalese law through Muluki Ain which in principle assured equality before law.
II. The Rana rulers abolished the practice of sati in 1920.

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 185 Question Id : 753229187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 0T XT3 Yot U1 b HIEHH F UTell BT b Beldbd fpar form Rigid U § ST & JHel THT BT Sy feam|
1. 0T RMGDT = 1920 H el WA DI JATE B (4T

Options :

1. % Had 1
2. % HAd Il
3. QYT 11 gl
4. % AT I

Question Number : 186 Question Id : 753229188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India the 42nd constitutional amendment act was passed in
Options :

1. % 1985

2. %1950

3. % 1967

4.+ 1976

Question Number : 186 Question Id : 753229188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd H 4241 Sfaute d=med sfafgw # g1 fopam T |

Options :



1. % 1985
2. % 1950
3. % 1967
4.+ 1976

Question Number : 187 Question Id : 753229189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“No person shall be deprived of his life or personal liberty.” This provision is stated by which article of the Indian constitution?
Options :

1. # Article 18

2. ¥ Article 21

3. % Article 25

4. % Article 16

Question Number : 187 Question Id : 753229189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 188 Question Id : 753229190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given key terms as they appear in the Preamble of the Indian constitution and then select the correct combination.
P. Secular



Q. Democratic
R. Socialist

Options :
1. # QPR
2. % PQR
3. % RPQ
4. ¥ QRP

Question Number : 188 Question Id : 753229190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QPR

2. % PQR

3. ¥ RPQ

4. % QRP

Question Number : 189 Question Id : 753229191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the Directive Principles of State Policy of Indian constitution?
I. They are not enforceable by any court.

II. These principles are applied to make laws in a state.

ITI. Article 51 states the last directive principle in the constitution.

Options :

1. # Only IIT

2. % Tand III

3. 1, Il and I1I
4. % Il and III



Question Number : 189 Question Id : 753229191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AIEH & o8 & At Fe=e dadl & g 8 Fafied 3 3 &9 91 $3F a1 62
1. d fopt ot =T gRT uaaHa =81 &

1. 39 Il &1 U o H ST S & o ar] fear S g |

1. 3J5G 51 Sfae™ 7 sifar e dd orad axal g

Options :

1. % dhad 111

2. % 19UTII

3.¢ LI AT I

4. % [ GYTIII

Question Number : 190 Question Id : 753229192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of Part I of the Indian constitution is correctly matched?
I. Article 1 — Formation of new states
II. Article 3- Admission or establishment of new States

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ¢ Neither I nor 11

Question Number : 190 Question Id : 753229192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % dhad [
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Teaching Methodology
Group Number : 11
Group Id : 75322911
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 75322911
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322913
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 753229193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement characterize the nature of social sciences?

I. Social science are those aspect of knowledge which have direct bearing on man’s activities in different sociocultural fields.

II. Social science seek to find out truths about human relationships which ultimately contribute to the social utility and advancement of
knowledge.

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 191 Question Id : 753229193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $ad 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 192 Question Id : 753229194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination of Example — General Features of Learner Centered Social Science class is correct?

I. When you teach on processes involved in agriculture, you can ask students, who have seen those processes, to describe them — using learners
experiences

I1. If the school wants to organise a talk on health related issues, then the local health worker can be invited to address the children — using
community resources

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 192 Question Id : 753229194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had |

2. % Had II

3. ¢ 1 AUT I A

4. % ATEIIATSII

Question Number : 193 Question Id : 753229195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Assessment refers to the value judgement made on the phenomenon (taking into consideration the quantitative and/or qualitative information
collected on it over a particular period of time).

II. Evaluation is a process by which information is obtained relative to some known objective or goal.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II



Question Number : 193 Question Id : 753229195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. % [qUT el
4. I

Question Number : 194 Question Id : 753229196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lack of several basic necessities can create disruptions in the classroom process. Which of the following are those basic necessities?
I. Secured, safe and congenial environment

II. Sufficient teaching learning materials

II1. Good student — student and student — teacher relationships

Options :

1. # Il and III
2.9 1, 1l and I1I
3. % Only I

4. % JTand II

Question Number : 194 Question Id : 753229196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % [ dUT I
2. 1, 11 AT
3. % $had |
4. % 19U

Question Number : 195 Question Id : 753229197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Art education is that area of learning that is based on
I. the visual, tangible art
II. the performing arts

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 195 Question Id : 753229197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. ¢ [ QYT I gl

4. % I I

Question Number : 196 Question Id : 753229198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Personality consist of which of the following?
I. The way you walk
II. The way you act

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 196 Question Id : 753229198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 197 Question Id : 753229199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the need for inclusive education from the angle of education?
I. Research shows children do better, academically and socially in inclusive settings
II. Inclusion has potential to reduce fear and build friendship

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II



Question Number : 197 Question Id : 753229199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % had Il

3. % [QUT I gl
4. % 1B

Question Number : 198 Question Id : 753229200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following article of Indian constitution imposed non-discrimination on the grounds of sex in the matters of gaining access to public
resort?

Options :

1. # Article 10
2. % Article 45
3. % Article 15
4. #® Article 20

Question Number : 198 Question Id : 753229200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3Jwq 10

2. % 3G 45

3. ¥ 3THG 15




4. % 3TEG 20

Question Number : 199 Question Id : 753229201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of the independence of India, how many languages were there in the eighth schedule of the Indian constitution?
Options :

1. ® 16

2. % 12

3.% 8

4.9 14

Question Number : 199 Question Id : 753229201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 16

2. % 12

3.% 8

4. 14

Question Number : 200 Question Id : 753229202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The major abilities that a teacher assess in the Language Assessment are
I. Reading with comprehension
II. Listening and Speaking

Options :

1. ® Only I

2. % Only II

3. % BothIand II



4. % Neither [ nor 11

Question Number : 200 Question Id : 753229202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAd Il
3. QYT 11 gl
4. % AT I




